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Speed and path
Let us consider the plane motion. Assume that in the Cartesian
coordinates the moving point can be written as x = x(t) and

y =y(t).
V= (v, vy)

B(x(t1), y(t1))
A(x(to), y(to))

The components of velocity of the this point can be defined as the
derivatives with respect to t v, = X, v, = y.
The speed of the point is the length of the velocity vector:

V=,/vZ+v2

The length of the path for the trajectory of the point over the
period of time [to, t1]:

t1
S= / VX2 + y2dt.
to



Examples

TBm)y()
A(x(to), ¥ (to))

Consider the plane motion with constant acceleration:
x(t) = wit, y(t) = at>.
The instant velocity at t:
Vx = Vi, Vv, = 2at.

We can thought that the x(t) and y(t) is the parametric form for
the trajectory of the point. In that way we obtain, that the vector
of instant velocity define the tangent direction at t. The instant

speed:
V(t) =/ v? + 4a%t2.

The length of the path up to the moment t;:

0t1 \/ V12 + 422t2dt = \/ v — 43212 asmh (231“) )



Integrating
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v
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/ \/H—Tcosh / cosh?(7
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2a (1), 1 = asinh(2at1/v1),

8a
v2 vi
4%971 + 822 1-— sinh2(7-1)sinh(7‘1) =
V—12as1nh 2t +i 1_7t 2at
43 vi 4a i v



Acceleration and curvature

The acceleration of the point:
aAx=Vx =X, ay=V, =Y.

Theorem
If \/v2 + v2 = const, then the acceleration always is orthogonal to
the velocity.

Proof. Let us differentiate the scalar product:

<4

<i{



Acceleration and curvature

Let us consider the circular motion with constant angular velocity:
x = Rcos(wt), y = Rsin(wt).
The value of the velocity:
vx = —Rwsin(wt), v, = Rwcos(wt).

The formula for the speed looks like:

V= \/R2w2 sin(wt) + R2w? cosl wt) = Rw.



Acceleration and curvature

The acceleration is defined the following formulas:
ax = —Rw? cos(wt), a, = —Ruw?sin(wt).

and
2

%4
— ./ — 2 _
|an| = 3)2( +a}2/ = Rw* = F

This acceleration is orthogonal with respect to the tangent. The
acceleration calls normal acceleration. If one know the value of the
normal acceleration, then

1 |an|

R Vv2'

The quantity p = 1/R is called a curvature.



Tangent acceleration
If the speed changes, then the acceleration might be represented as
two orthogonal vectors as the tangent to the trajectory and the
normal vector to the trajectory.
a

an
ar
The value of the tangent acceleration can be obtained as follows:
(a,v)

N )

The vector of the tangent acceleration:

N CA
aTtT = 5 S
(V, V)
The same formula in the coordinate form looks like:
- axVx + ayvy e =
ar = —5——5=(wi + vyj);

vZ + v)?



Normal acceleration
The vector of normal acceleration:

5,,:5—87'.

The same formula in the coordinate form is follows:

- 1 2 2\ 7 2 2\ 7
3, = m(ax(vx + vy)/ +a,(vi + Vy)j —
(axvx + ayvy)vxf— (axvx + ayvy)vyfj =
(axvy —ayw), = =
VE T V}% (Vy’ Vx./)

The value of the normal acceleration is:

axVy, — ayVv
anl = /Go.2) ~ (o) = 2 2,
The formula for curvature of the trajectory:
_ | _ V(a,a) —(ar,a7) _ Jaxyy —ayw] _ [ax V]

(V,V) (V,V) (W2 (v, V)32



Acceleration and curvature. Example
Consider the flat motion with constant acceleration:

x(t) = wvit, y(t) = at>.
The instant velocity at t:
Vx = Vi, Vv, = 2at.
The instant acceleration:
ax =0,a, = 2a.
The value of tangent acceleration is
(a,v) 42°t
V (7, 7) V12143282

The normal acceleration:

16242 2avy
lan| = ([ 4a% — = :
v12 +432t2 /12 4 432¢2

laT| =




Acceleration and curvature. Example

The curvature of the trajectory:

. 23V1
p= (V12 +4‘_:)2t2)3/2‘

Therefore the maximum of the curvature is:

2a
ax — "5
Pmax V127

and the curvature tends to zero as t — co. The tangent
; ; _ 42°t
acceleration is |at| = NG 2a as t — oco. The normal

23V1

acceleration ——=24——
Vv12+4+422t2

—0ast— oo.



General formulas

The radius-vector for the trajectory is

7= (x(1),y(x), 2(1)).

The velocity for the moving point is tangent to the curve and:

V=_r= (x,y,2).

The acceleration is:
d2

Ly
I



Acceleration on three dimension

The tangent acceleration:

. (a,V) . axw+ayvy +azv;,
ar = Y = 22 2
(V,V) Vit Vgt vs

The normal acceleration:

5) - - =,
= (vl + vyj + vzk).

5,,:5—27'.

The normal acceleration and tangent vectors define the osculating
%

plane. Define a unit vectors = —Z2— and A= —22—. The

. V (V7V) V (anviﬂ)
vector b = i x i is called binormal. The vectors if, i, b define the
orthogonal system of the vectors connected with the curve.




The torsion of the trajectory

Torsion is a derivative of the angle of rotation of osculating plane
with respect to changing the length of the curve.

bt - Z\ an
a, b
L v
Sra—
vV

The normal vector to the osculation plane:
b=vxa.

The formula for the torsion has the form:



The torsion and trajectory. An example helix.

Helix: _%

r= (cos(t),sin(t),t), v =(—sin(t), ,cos(t),1)

7= (—cos(t),—sin(t),0); b=V x &= (—sin(t),— cos(t),0).

b= (— cos(t),sin(t),0), dl = \/sinz(t) + cos?(t) + 1dt.

Torsion:

- dt cos?(t) + sin?(t) 1

di \/sinz(t)—i-cosz(t)—l—l 2




Summary

» A length of a path is defined curvilinear integral of the second
kind.

» Value of normal acceleration and speed define the curvature
of a curve.

» Binormal vector define the osculating plane.

» Torsion define the change of the binormal vector along the
trajectory.
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